
تمرين - عمليات الجمع بدون احتفاظ

ضع و أنجز: 

112 + 857 391 + 405 292 + 201 359 + 230
.. .. .. .. .. .. .. .. .. .. .. ..

+ .. .. .. + .. .. .. + .. .. .. + .. .. ..

= .. .. .. = .. .. .. = .. .. .. = .. .. ..

115 + 433 575 + 322 105 + 192 959 + 20
.. .. .. .. .. .. .. .. .. .. .. ..

+ .. .. .. + .. .. .. + .. .. .. + .. .. ..

= .. .. .. = .. .. .. = .. .. .. = .. .. ..

724 + 251 629 + 360 629 + 310 336 + 600
.. .. .. .. .. .. .. .. .. .. .. ..

+ .. .. .. + .. .. .. + .. .. .. + .. .. ..

= .. .. .. = .. .. .. = .. .. .. = .. .. ..

2 - أكمل عمليات الجمع:

2 7 .. .. 8 2 1 1 5 1 .. 1
+ .. .. 5 + 4 .. 6 + .. .. 0 + 2 4 ..

= 5 7 8 = 6 9 .. = 8 1 .. = .. 7 7

9 .. .. 4 .. .. 1 0 1 5 7 5
+ 3 4 + .. 8 0 + .. .. .. + .. .. 2

= 9 3 9 = 7 8 3 = 4 4 8 = 8 8 ..

.. 0 2 9 .. 1 8 2 .. 7 ..
+ 6 .. 3 + 1 .. 2 + .. .. 0 + 1 .. 0

= 7 0 .. = .. 9 8 = 7 8 .. = 3 9 5
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تصحيح - عمليات الجمع بدون احتفاظ

ضع و أنجز: 

112 + 857 391 + 405 292 + 201 359 + 230
1 1 2 3 9 1 2 9 2 3 5 9

+ 8 5 7 + 4 0 5 + 2 0 1 + 2 3 0

= 9 6 9 = 7 9 6 = 4 9 3 = 5 8 9

115 + 433 575 + 322 105 + 192 959 + 20
1 1 5 5 7 5 1 0 5 9 5 9

+ 4 3 3 + 3 2 2 + 1 9 2 + 2 0

= 5 4 8 = 8 9 7 = 2 9 7 = 9 7 9

724 + 251 629 + 360 629 + 310 336 + 600
7 2 4 6 2 9 6 2 9 3 3 6

+ 2 5 1 + 3 6 0 + 3 1 0 + 6 0 0

= 9 7 5 = 9 8 9 = 9 3 9 = 9 3 6

2 - أكمل عمليات الجمع:

2 7 3 2 8 2 1 1 5 1 3 1
+ 3 0 5 + 4 1 6 + 7 0 0 + 2 4 6

= 5 7 8 = 6 9 8 = 8 1 5 = 3 7 7

9 0 5 4 0 3 1 0 1 5 7 5
+ 3 4 + 3 8 0 + 3 4 7 + 3 1 2

= 9 3 9 = 7 8 3 = 4 4 8 = 8 8 7

1 0 2 9 6 1 8 2 2 7 5
+ 6 0 3 + 1 0 2 + 6 0 0 + 1 2 0

= 7 0 5 = 1 9 8 = 7 8 2 = 3 9 5
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